

# SOME INTEGRALS INVOLVING GENERALIZED M-SERIES USING HADAMARD PRODUCT

D. S. Sachan, S. Jaloree, K.S. Nisar and A. Goyal

Communicated by Thabet Abdeljawad

MSC 2010 Classifications: Primary 33C20; 33E12.

Keywords and phrases: Beta function, Gamma function, Mittag-Leffler function, Generalized Hypergeometric function, Generalized  $M$ -series, Hadamard Product.

**Abstract.** In this paper, we establish some theorems in order to evaluate certain single and double integral formulas associated with the generalized  $M$ -series. The results are generalizations and unification of formulas for a fairly general class of special functions with a focus on the Mittag-Leffler function and hypergeometric function. By specializing the parameters, some new or known integrals are also investigated as corollaries in terms of generalized hypergeometric function. Further, applying the Hadamard product of two analytic functions, we have represented all our main findings in the Hadamard product of two known functions.

## 1 Introduction and Preliminaries

Special functions play a vital role in solving various problems of mathematics. The generalized  $M$ -series has newly emerged in connection with special functions, which is important due to its particular cases being followed by the Mittag-Leffler function and hypergeometric function, and these functions play a key role in solving various problems in applied sciences. The generalized  $M$ -series [1] is defined as

$$\begin{aligned}
 {}_pM_q^{\alpha,\beta}(z) &= {}_pM_q^{\alpha,\beta}(c_1, \dots, c_p; d_1, \dots, d_q; z), \\
 &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k}{\Gamma(\beta + k\alpha)},
 \end{aligned}
 \tag{1.1}$$

where  $\alpha, \beta \in \mathbb{C}$ ,  $z \in \mathbb{C}$ ,  $\Re(\alpha) > 0$ ;  $(c_\tau)_k$  ( $\tau = \overline{1, p}$ ) and  $(d_\ell)_k$  ( $\ell = \overline{1, q}$ ) are Pochhammer symbols. The series (1.1) is defined when none of the parameters  $(d_\ell)$  ( $\ell = \overline{1, q}$ ) is a negative integer or zero; if any numerator parameter  $c_\tau$  is a negative integer or zero, then series terminates to a polynomial in  $z$ . The series (1.1) is convergent for all  $z$  if  $p \leq q$ ; it is convergent for  $|z| < \delta = \alpha^\alpha$  if  $p = q + 1$  and divergent if  $p > q + 1$ . When  $p = q + 1$  and  $|z| = \delta$ , the series is convergent on conditions depending on the parameters. The detailed account of the  $M$ -series can be found in the paper [1]. By specializing the parameters of (1.1), we obtain various trigonometrical functions and classical special functions such as exponential function, binomial series, sine function, cosine function, Mittag-Leffler function [2], generalized Mittag-Leffler function [3] (for current research of generalized Mittag-Leffler function, see [4]), generalized hypergeometric function [5] as particular cases of  $M$ -series. For instance,

$${}_0M_0^{1,1}(-; -; z) = \sum_{k=0}^{\infty} \frac{z^k}{k!} = e^z,
 \tag{1.2}$$

$${}_1M_0^{1,1}(c; -; z) = \sum_{k=0}^{\infty} \frac{(c)_k z^k}{k!} = (1 - z)^{-c},
 \tag{1.3}$$

$${}_z0M_1^{1,1}(-; 3/2; -z^2/4) = \sum_{k=0}^{\infty} \frac{(-1)^k z^{2k+1}}{(2k + 1)!} = \sin z,
 \tag{1.4}$$

$${}_0M_1^{1,1}(-; 1/2; -z^2/4) = \sum_{k=0}^{\infty} \frac{(-1)^k z^{2k}}{(2k)!} = \cos z, \tag{1.5}$$

$${}_0M_0^{\alpha,\beta}(-; -; z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\beta + k\alpha)} = E_{\alpha,\beta}(z), \tag{1.6}$$

$${}_1M_1^{\alpha,\beta}(\rho; 1; z) = \sum_{k=0}^{\infty} \frac{(\rho)_k}{(1)_k} \frac{z^k}{\Gamma(\beta + k\alpha)} = E_{\alpha,\beta}^{\rho}(z), \tag{1.7}$$

$$\begin{aligned} {}_pM_q^{1,1}(c_1, \dots, c_p; d_1, \dots, d_q; z) &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k}{k!} \\ &= {}_pF_q(c_1, \dots, c_p; d_1, \dots, d_q; z). \end{aligned} \tag{1.8}$$

Fractional calculus is a fast-growing area of research. A lot of work has been done related to this theory. For example, see Jarad and Abdeljawad [6], Shah et al. [7]. Many authors have studied *M*-series in connection with fractional calculus theory, such as Gehlot [8], [9] obtained integral representation and certain properties associated with fractional calculus. Kumar and Saxena [10] investigated generalized fractional calculus formulas involving  $F_3$  hypergeometric function, Sachan et al. [11] established fractional calculus formulas for the product of generalized *M*-series and *I*-function of two variables using Saigo-Maeda operators.

Recently, Sachan and Jaloree [12] obtained various integral transforms like Laplace transform, Beta transform, Hankel transform and many more, including fractional Fourier transform of (1.1). For more properties and application of (1.1), see Chouhan and Saraswat [13], Khan et al. [14], Singh [15], Chouhan and Khan [16], Saxena [17]. In this paper, our main concern is to find certain integrals related to *M*-series using Hadamard product.

Now we recall the idea of Hadamard product[18][19] or convolution of two power series, which is very useful to find a new type of results of our main findings. The Hadamard product of two power series is an entire function if one of the power series is an entire function involved in the product. This concept can help us to write a newly emerged function into two known functions. Let two power series whose radius of convergence are denoted by  $R_f$  and  $R_g$ ,

$$f(z) = \sum_{k=0}^{\infty} u_k z^k, \quad (|z| < R_f),$$

$$g(z) = \sum_{k=0}^{\infty} v_k z^k, \quad (|z| < R_g),$$

then the Hadamard product of two power series is defined by

$$(f * g)(z) = \sum_{k=0}^{\infty} u_k v_k z^k = (g * f)(z), \quad (|z| < R), \tag{1.9}$$

where

$$R = \lim_{k \rightarrow \infty} \left| \frac{u_k v_k}{u_{k+1} v_{k+1}} \right| = \left( \lim_{k \rightarrow \infty} \left| \frac{u_k}{u_{k+1}} \right| \right) \cdot \left( \lim_{k \rightarrow \infty} \left| \frac{v_k}{v_{k+1}} \right| \right) = R_f \cdot R_g.$$

Therefore, in general we have  $R \geq R_f \cdot R_g$ .

## 2 Required Results

We consider following important formulas for our investigation. From [5], we have

$${}(a)_{mk} = m^{mk} \binom{a}{m}_k \binom{a+1}{m}_k \cdots \binom{a+m-1}{m}_k, \tag{2.1}$$

where  $(a)_{mk}$  denotes a product of  $mk$  factors,  $a$  is neither zero nor a negative integer,  $m$  is a positive integer and  $k$  is a non-negative integer.

The Lavoie-Trottier integral formula [20].

$$\int_0^1 x^{\mu-1}(1-x)^{2\lambda-1}\left(1-\frac{x}{3}\right)^{2\mu-1}\left(1-\frac{x}{4}\right)^{\lambda-1} dx = \left(\frac{2}{3}\right)^{2\mu} \frac{\Gamma(\mu)\Gamma(\lambda)}{\Gamma(\mu+\lambda)}, \tag{2.2}$$

provided  $\Re(\mu) > 0$  and  $\Re(\lambda) > 0$ .

Edward double integral formula [21].

$$\int_0^1 \int_0^1 y^\mu(1-x)^{\mu-1}(1-y)^{\lambda-1}(1-xy)^{1-\mu-\lambda} dx dy = \frac{\Gamma(\mu)\Gamma(\lambda)}{\Gamma(\mu+\lambda)}, \tag{2.3}$$

provided  $\Re(\mu) > 0$  and  $\Re(\lambda) > 0$ .

### 3 Main Integrals

This section investigates some integral formulas associated with generalized  $M$ -series. Some new or known results are also investigated as corollaries in terms of hypergeometric function.

**Theorem 3.1.** *If  $\alpha, \beta, \delta \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\delta) > 0$ , and no  $d_\ell$  is negative or zero, then*

$$\frac{1}{\Gamma(\delta)} \int_0^1 t^{\beta-1}(1-t)^{\delta-1} {}_pM_q^{\alpha, \beta}(zt^\alpha) dt = {}_pM_q^{\alpha, \beta+\delta}(z). \tag{3.1}$$

*Proof.* Let  $\mathcal{L}$  be the left-handed member of (3.1), term by term integration gives us the following expression

$$\begin{aligned} \mathcal{L} &= \frac{1}{\Gamma(\delta)} \int_0^1 t^{\beta-1}(1-t)^{\delta-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k t^{k\alpha}}{\Gamma(\beta+k\alpha)} dt, \\ &= \frac{1}{\Gamma(\delta)} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k}{\Gamma(\beta+k\alpha)} \int_0^1 t^{\beta+k\alpha-1}(1-t)^{\delta-1} dt, \\ &= \frac{1}{\Gamma(\delta)} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k}{\Gamma(\beta+k\alpha)} B(\beta+k\alpha, \delta), \\ &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k}{\Gamma(\beta+\delta+k\alpha)}, \\ &= {}_pM_q^{\alpha, \beta+\delta}(z). \end{aligned}$$

This is the completion of Theorem 3.1. □

**Corollary 3.2.** *If  $z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\delta) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\frac{1}{\Gamma(\delta)} \int_0^1 (1-t)^{\delta-1} {}_pF_q(z t) dt = \frac{1}{\Gamma(\delta+1)} {}_{p+1}F_{q+1}(1, c_1, \dots, c_p; 1+\delta, d_1, \dots, d_q; z). \tag{3.2}$$

**Theorem 3.3.** *If  $\alpha, \beta, \delta, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\delta) > 0$ , and no  $d_\ell$  is negative or zero, then*

$$\frac{1}{\Gamma(\delta)} \int_t^z (z-s)^{\delta-1}(s-t)^{\beta-1} {}_pM_q^{\alpha, \beta}(\lambda(s-t)^\alpha) ds = (z-t)^{\beta+\delta-1} {}_pM_q^{\alpha, \beta+\delta}(\lambda(z-t)^\alpha). \tag{3.3}$$

*Proof.* Let  $\mathcal{L}$  be the left-handed member of (3.3), term by term integration gives us the following expression

$$\begin{aligned} \mathcal{L} &= \frac{1}{\Gamma(\delta)} \int_t^z (z-s)^{\delta-1} (s-t)^{\beta-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\lambda^k (s-t)^{\alpha k}}{\Gamma(\beta+k\alpha)} ds, \\ &= \frac{1}{\Gamma(\delta)} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\lambda^k}{\Gamma(\beta+k\alpha)} \int_t^z (z-s)^{\delta-1} (s-t)^{\alpha k+\beta-1} ds, \end{aligned}$$

by changing the variable  $s = t + \omega(z-t)$

$$\begin{aligned} \mathcal{L} &= \frac{1}{\Gamma(\delta)} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\lambda^k (z-t)^{\alpha k+\beta+\delta-1}}{\Gamma(\beta+k\alpha)} \int_0^1 \omega^{\alpha k+\beta-1} (1-\omega)^{\delta-1} d\omega, \\ &= \frac{1}{\Gamma(\delta)} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\lambda^k (z-t)^{\alpha k+\beta+\delta-1}}{\Gamma(\beta+k\alpha)} B(\beta+k\alpha, \delta), \\ &= (z-t)^{\beta+\delta-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\lambda^k (z-t)^{\alpha k}}{\Gamma(\beta+\delta+k\alpha)}, \\ &= (z-t)^{\beta+\delta-1} {}_pM_q^{\alpha, \beta+\delta}(\lambda(z-t)^\alpha). \end{aligned}$$

This is the completion of Theorem 3.3. □

**Corollary 3.4.** *If  $\delta, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\delta) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\frac{1}{\Gamma(\delta)} \int_t^z (z-s)^{\delta-1} {}_pF_q(\lambda(s-t)) ds = \frac{(z-t)^{\delta-1}}{\Gamma(\delta+1)} {}_{p+1}F_{q+1}(1, c_1 \cdots, c_p; 1+\delta, d_1, \dots, d_q; \lambda(z-t)). \tag{3.4}$$

**Theorem 3.5.** *If  $\alpha, \beta \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\frac{1}{\Gamma(\alpha)} \int_0^z t^{\beta-1} (z-t)^{\alpha-1} {}_pM_q^{\alpha, \beta}(\lambda t^\alpha) dt = z^{\alpha+\beta-1} {}_pM_q^{\alpha, \alpha+\beta}(\lambda z^\alpha). \tag{3.5}$$

*Proof.* Let  $\mathcal{L}$  be the left-handed member of (3.5), term by term integration gives us the following expression

$$\begin{aligned} \mathcal{L} &= \frac{1}{\Gamma(\alpha)} \int_0^z t^{\beta-1} (z-t)^{\alpha-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\lambda^k t^{\alpha k}}{\Gamma(\beta+k\alpha)} dt, \\ &= \frac{1}{\Gamma(\alpha)} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\lambda^k}{\Gamma(\beta+k\alpha)} \int_0^z t^{\alpha k+\beta-1} (z-t)^{\alpha-1} dt, \end{aligned}$$

substituting  $t = zv$

$$\begin{aligned} \mathcal{L} &= \frac{1}{\Gamma(\alpha)} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\lambda^k z^{\alpha k+\alpha+\beta-1}}{\Gamma(\beta+k\alpha)} \int_0^1 v^{\alpha k+\beta-1} (1-v)^{\alpha-1} dv, \\ &= \frac{1}{\Gamma(\alpha)} z^{\alpha+\beta-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\lambda^k z^{\alpha k}}{\Gamma(\beta+k\alpha)} B(\beta+k\alpha, \alpha), \\ &= z^{\alpha+\beta-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\lambda^k z^{\alpha k}}{\Gamma(\alpha+\beta+k\alpha)}, \\ &= z^{\alpha+\beta-1} {}_pM_q^{\alpha, \alpha+\beta}(\lambda z^\alpha). \end{aligned}$$

This is the completion of Theorem 3.5. □

**Corollary 3.6.** *If  $z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q})$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^z {}_pF_q(\lambda t) dt = z_{p+1}F_{q+1}(1, c_1 \cdots, c_p; 2, d_1, \dots, d_q; \lambda z). \tag{3.6}$$

**Theorem 3.7.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^t z^{\mu-1}(t-z)^{\lambda-1} {}_pM_q^{\alpha, \beta}(cz^m) dz = B(\mu, \lambda)t^{\mu+\lambda-1} {}_{p+m}M_{q+m}^{\alpha, \beta}(P_1; Q_1; ct^m), \tag{3.7}$$

where

$$P_1 = c_1, \dots, c_p, \frac{\mu}{m}, \frac{\mu+1}{m}, \dots, \frac{\mu+m-1}{m},$$

$$Q_1 = d_1, \dots, d_q, \frac{\mu+\lambda}{m}, \frac{\mu+\lambda+1}{m}, \dots, \frac{\mu+\lambda+m-1}{m}.$$

*Proof.* Let  $\mathcal{L}$  be the left-handed member of (3.7), term by term integration gives us the following expression

$$\begin{aligned} \mathcal{L} &= \int_0^t z^{\mu-1}(t-z)^{\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k z^{mk}}{\Gamma(\beta+k\alpha)} dz, \\ &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k}{\Gamma(\beta+k\alpha)} \int_0^t z^{mk+\mu-1}(t-z)^{\lambda-1} dz, \end{aligned}$$

substituting  $z = tv$ , which gives

$$\begin{aligned} \mathcal{L} &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{mk+\mu+\lambda-1}}{\Gamma(\beta+k\alpha)} \int_0^1 v^{mk+\mu-1}(1-v)^{\lambda-1} dv, \\ &= t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{mk}}{\Gamma(\beta+k\alpha)} B(mk+\mu, \lambda), \\ &= t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{mk}}{\Gamma(\beta+k\alpha)} \frac{\Gamma(mk+\mu)\Gamma(\lambda)}{\Gamma(mk+\mu+\lambda)}, \\ &= B(\mu, \lambda)t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{mk}}{\Gamma(\beta+k\alpha)} \frac{(\mu)_{mk}}{(\mu+\lambda)_{mk}}, \end{aligned}$$

using formula (2.1), above expression can be written as

$$\begin{aligned} \mathcal{L} &= B(\mu, \lambda)t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\prod_{i=1}^m \left(\frac{\mu+i-1}{m}\right)_k}{\prod_{j=1}^m \left(\frac{\mu+\lambda+j-1}{m}\right)_k} \frac{c^k t^{mk}}{\Gamma(\beta+k\alpha)}, \\ &= B(\mu, \lambda)t^{\mu+\lambda-1} {}_{p+m}M_{q+m}^{\alpha, \beta}(P_1; Q_1; ct^m). \end{aligned}$$

This is the completion of Theorem 3.7. □

**Corollary 3.8.** *If  $\mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then there hold the following known formula [5].*

$$\int_0^t z^{\mu-1}(t-z)^{\lambda-1} {}_pF_q(cz^m) dz = B(\mu, \lambda)t^{\mu+\lambda-1} {}_{p+m}F_{q+m}(P_1; Q_1; ct^m), \tag{3.8}$$

where  $P_1$  and  $Q_1$  are same as given in Theorem 3.7.

**Theorem 3.9.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^t z^{\mu-1}(t-z)^{\lambda-1} {}_pM_q^{\alpha, \beta}(c(t-z)^s) dz = B(\mu, \lambda)t^{\mu+\lambda-1} {}_{p+s}M_{q+s}^{\alpha, \beta}(P_2; Q_2; ct^s), \tag{3.9}$$

where

$$P_2 = c_1, \dots, c_p, \frac{\lambda}{s}, \frac{\lambda+1}{s}, \dots, \frac{\lambda+s-1}{s},$$

$$Q_2 = d_1, \dots, d_q, \frac{\mu+\lambda}{s}, \frac{\mu+\lambda+1}{s}, \dots, \frac{\mu+\lambda+s-1}{s}.$$

*Proof.* Let  $\mathcal{L}$  be the left-handed member of (3.9), term by term integration gives us the following expression

$$\begin{aligned} \mathcal{L} &= \int_0^t z^{\mu-1}(t-z)^{\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k (t-z)^{sk}}{\Gamma(\beta+k\alpha)} dz, \\ &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k}{\Gamma(\beta+k\alpha)} \int_0^t z^{\mu-1}(t-z)^{sk+\lambda-1} dz, \end{aligned}$$

substituting  $z = tv$ , which gives

$$\begin{aligned} \mathcal{L} &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{sk+\mu+\lambda-1}}{\Gamma(\beta+k\alpha)} \int_0^1 v^{\mu-1}(1-v)^{sk+\lambda-1} dv, \\ &= t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{sk}}{\Gamma(\beta+k\alpha)} B(\mu, sk+\lambda), \\ &= t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{sk}}{\Gamma(\beta+k\alpha)} \frac{\Gamma(\mu)\Gamma(sk+\lambda)}{\Gamma(sk+\mu+\lambda)}, \\ &= B(\mu, \lambda)t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{sk}}{\Gamma(\beta+k\alpha)} \frac{(\lambda)_{sk}}{(\mu+\lambda)_{sk}}, \end{aligned}$$

using formula (2.1), above expression can be written as

$$\begin{aligned} \mathcal{L} &= B(\mu, \lambda)t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{\prod_{i=1}^s \left(\frac{\lambda+i-1}{s}\right)_k}{\prod_{j=1}^s \left(\frac{\mu+\lambda+j-1}{s}\right)_k} \frac{c^k t^{sk}}{\Gamma(\beta+k\alpha)}, \\ &= B(\mu, \lambda)t^{\mu+\lambda-1} {}_{p+s}M_{q+s}^{\alpha, \beta}(P_2; Q_2; ct^s). \end{aligned}$$

This is the completion of Theorem 3.9. □

**Corollary 3.10.** *If  $\mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then there hold the following known formula [22].*

$$\int_0^t z^{\mu-1}(t-z)^{\lambda-1} {}_pF_q(c(t-z)^s) dz = B(\mu, \lambda)t^{\mu+\lambda-1} {}_{p+s}F_{q+s}(P_2; Q_2; ct^s), \tag{3.10}$$

where  $P_2$  and  $Q_2$  are same as given in Theorem 3.9.

**Theorem 3.11.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\begin{aligned} & \int_0^t z^{\mu-1}(t-z)^{\lambda-1} {}_pM_q^{\alpha, \beta} \left( cz^m(t-z)^s \right) dz \\ &= B(\mu, \lambda)t^{\mu+\lambda-1} {}_{p+m+s}M_{q+m+s}^{\alpha, \beta} \left( P_3; Q_3; \frac{m^m s^s ct^{m+s}}{(m+s)^{m+s}} \right), \end{aligned} \tag{3.11}$$

where

$$\begin{aligned} P_3 &= c_1, \dots, c_p, \frac{\mu}{m}, \frac{\mu+1}{m}, \dots, \frac{\mu+m-1}{m}, \frac{\lambda}{s}, \frac{\lambda+1}{s}, \dots, \frac{\lambda+s-1}{s}, \\ Q_3 &= d_1, \dots, d_q, \frac{\mu+\lambda}{m+s}, \frac{\mu+\lambda+1}{m+s}, \dots, \frac{\mu+\lambda+m+s-1}{m+s}. \end{aligned}$$

*Proof.* Let  $\mathcal{L}$  be the left-handed member of (3.11), term by term integration gives us the following expression

$$\begin{aligned} \mathcal{L} &= \int_0^t z^{\mu-1}(t-z)^{\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k z^{mk}(t-z)^{sk}}{\Gamma(\beta+k\alpha)} dz, \\ &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k}{\Gamma(\beta+k\alpha)} \int_0^t z^{mk+\mu-1}(t-z)^{sk+\lambda-1} dz, \end{aligned}$$

substituting  $z = tv$ , which gives

$$\begin{aligned} \mathcal{L} &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{mk+sk+\mu+\lambda-1}}{\Gamma(\beta+k\alpha)} \int_0^1 v^{mk+\mu-1}(1-v)^{sk+\lambda-1} dv, \\ &= t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{(m+s)k}}{\Gamma(\beta+k\alpha)} B(mk+\mu, sk+\lambda), \\ &= t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{(m+s)k}}{\Gamma(\beta+k\alpha)} \frac{\Gamma(mk+\mu)\Gamma(sk+\lambda)}{\Gamma((m+s)k+\mu+\lambda)}, \\ &= B(\mu, \lambda)t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{(m+s)k}}{\Gamma(\beta+k\alpha)} \frac{(\mu)_{mk}(\lambda)_{sk}}{(\mu+\lambda)_{(m+s)k}}, \end{aligned}$$

using formula (2.1), above expression can be written as

$$\begin{aligned} \mathcal{L} &= B(\mu, \lambda)t^{\mu+\lambda-1} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{c^k t^{(m+s)k}}{\Gamma(\beta+k\alpha)}, \\ &\times \frac{m^{mk} \prod_{i=1}^m \left( \frac{\mu+i-1}{m} \right)_k s^{sk} \prod_{j=1}^s \left( \frac{\lambda+j-1}{s} \right)_k}{(m+s)^{(m+s)k} \prod_{\omega=1}^{m+s} \left( \frac{\mu+\lambda+\omega-1}{m+s} \right)_k}, \end{aligned}$$

$$= B(\mu, \lambda)t^{\mu+\lambda-1} {}_{p+m+s}M_{q+m+s}^{\alpha, \beta} \left( P_3; Q_3; \frac{m^m s^s ct^{m+s}}{(m+s)^{m+s}} \right).$$

This is the completion of Theorem 3.11. □

**Corollary 3.12.** *If  $\mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then there hold the following known formula [5].*

$$\int_0^t z^{\mu-1} (t-z)^{\lambda-1} {}_pF_q \left( cz^m (t-z)^s \right) dz = B(\mu, \lambda)t^{\mu+\lambda-1} {}_{p+m+s}F_{q+m+s} \left( P_3; Q_3; \frac{m^m s^s ct^{m+s}}{(m+s)^{m+s}} \right), \tag{3.12}$$

where  $P_3$  and  $Q_3$  are same as given in Theorem 3.11.

**Theorem 3.13.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\begin{aligned} & \int_0^1 x^{\mu-1} (1-x)^{2(\mu+\lambda)-1} \left(1 - \frac{x}{3}\right)^{2\mu-1} \left(1 - \frac{x}{4}\right)^{(\mu+\lambda)-1} {}_pM_q^{\alpha, \beta} \left( zx \left(1 - \frac{x}{3}\right)^2 \right) dx \\ &= \left(\frac{2}{3}\right)^{2\mu} B(\mu, \mu + \lambda) {}_{p+1}M_{q+1}^{\alpha, \beta} \left( c_1, \dots, c_p, \mu; d_1, \dots, d_q, 2\mu + \lambda; \frac{4z}{9} \right). \end{aligned} \tag{3.13}$$

*Proof.* Let  $\mathcal{L}$  be the left-handed member of (3.13), by applying (1.1) in the integrand of (3.13) and interchanging the order of integral and summation, we get

$$\begin{aligned} \mathcal{L} &= \int_0^1 x^{\mu-1} (1-x)^{2(\mu+\lambda)-1} \left(1 - \frac{x}{3}\right)^{2\mu-1} \left(1 - \frac{x}{4}\right)^{(\mu+\lambda)-1} {}_pM_q^{\alpha, \beta} \left( zx \left(1 - \frac{x}{3}\right)^2 \right) dx, \\ &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k}{\Gamma(\beta + k\alpha)} \\ &\quad \times \int_0^1 x^{\mu+k-1} (1-x)^{2(\mu+\lambda)-1} \left(1 - \frac{x}{3}\right)^{2(\mu+k)-1} \left(1 - \frac{x}{4}\right)^{(\mu+\lambda)-1} dx, \end{aligned}$$

applying integral formula (2.2), we obtain

$$\begin{aligned} \mathcal{L} &= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k}{\Gamma(\beta + k\alpha)} \left(\frac{2}{3}\right)^{2(\mu+k)} \frac{\Gamma(\mu+k)\Gamma(\mu+\lambda)}{\Gamma(2\mu+\lambda+k)}, \\ &= \left(\frac{2}{3}\right)^{2\mu} \frac{\Gamma(\mu)\Gamma(\mu+\lambda)}{\Gamma(2\mu+\lambda)} \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{(\mu)_k}{(2\mu+\lambda)_k} \frac{\left(\frac{4z}{9}\right)^k}{\Gamma(\beta + k\alpha)}, \\ &= \left(\frac{2}{3}\right)^{2\mu} B(\mu, \mu + \lambda) {}_{p+1}M_{q+1}^{\alpha, \beta} \left( c_1, \dots, c_p, \mu; d_1, \dots, d_q, 2\mu + \lambda; \frac{4z}{9} \right). \end{aligned}$$

This is the completion of Theorem 3.13. □

**Corollary 3.14.** *If  $\mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\begin{aligned} & \int_0^1 x^{\mu-1} (1-x)^{2(\mu+\lambda)-1} \left(1 - \frac{x}{3}\right)^{2\mu-1} \left(1 - \frac{x}{4}\right)^{(\mu+\lambda)-1} {}_pF_q \left( zx \left(1 - \frac{x}{3}\right)^2 \right) dx \\ &= \left(\frac{2}{3}\right)^{2\mu} B(\mu, \mu + \lambda) {}_{p+1}F_{q+1} \left( c_1, \dots, c_p, \mu; d_1, \dots, d_q, 2\mu + \lambda; \frac{4z}{9} \right). \end{aligned} \tag{3.14}$$



**Theorem 3.15.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 x^{\mu+\lambda-1}(1-x)^{2\mu-1} \left(1-\frac{x}{3}\right)^{2(\mu+\lambda)-1} \left(1-\frac{x}{4}\right)^{\mu-1} {}_pM_q^{\alpha, \beta} \left(z \left(1-\frac{x}{4}\right)(1-x)^2\right) dx$$

$$= \left(\frac{2}{3}\right)^{2(\mu+\lambda)} B(\mu, \mu + \lambda) {}_{p+1}M_{q+1}^{\alpha, \beta}(c_1, \dots, c_p, \mu; d_1, \dots, d_q, 2\mu + \lambda; z).$$
(3.15)

*Proof.* Proof is similar as of Theorem 3.13. □

**Corollary 3.16.** *If  $\mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 x^{\mu+\lambda-1}(1-x)^{2\mu-1} \left(1-\frac{x}{3}\right)^{2(\mu+\lambda)-1} \left(1-\frac{x}{4}\right)^{\mu-1} {}_pF_q \left(z \left(1-\frac{x}{4}\right)(1-x)^2\right) dx$$

$$= \left(\frac{2}{3}\right)^{2(\mu+\lambda)} B(\mu, \mu + \lambda) {}_{p+1}F_{q+1}(c_1, \dots, c_p, \mu; d_1, \dots, d_q, 2\mu + \lambda; z).$$
(3.16)

**Theorem 3.17.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda-1} (1-xy)^{1-\mu-\lambda} {}_pM_q^{\alpha, \beta} \left(\frac{z(1-y)}{1-xy}\right) dx dy$$

$$= B(\mu, \lambda) {}_{p+1}M_{q+1}^{\alpha, \beta}(c_1, \dots, c_p, \lambda; d_1, \dots, d_q, \mu + \lambda; z).$$
(3.17)

*Proof.* Let  $\mathcal{L}$  be the left-handed member of (3.17), by applying (1.1) in the integrand of (3.17) and interchanging the order of integral and summation, we get

$$\mathcal{L} = \int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda-1} (1-xy)^{1-\mu-\lambda} {}_pM_q^{\alpha, \beta} \left(\frac{z(1-y)}{1-xy}\right) dx dy,$$

$$= \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k}{\Gamma(\beta + k\alpha)} \int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda+k-1} (1-xy)^{1-\mu-\lambda-k} dx dy,$$

applying integral formula (2.3)

$$\mathcal{L} = \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k}{\Gamma(\beta + k\alpha)} \frac{\Gamma(\mu)\Gamma(\lambda + k)}{\Gamma(\mu + \lambda + k)},$$

$$= B(\mu, \lambda) \sum_{k=0}^{\infty} \frac{(c_1)_k \cdots (c_p)_k}{(d_1)_k \cdots (d_q)_k} \frac{z^k}{\Gamma(\beta + k\alpha)} \frac{(\lambda)_k}{(\mu + \lambda)_k},$$

$$= B(\mu, \lambda) {}_{p+1}M_{q+1}^{\alpha, \beta}(c_1, \dots, c_p, \lambda; d_1, \dots, d_q, \mu + \lambda; z).$$

This is the completion of Theorem 3.17. □

**Corollary 3.18.** *If  $\mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda-1} (1-xy)^{1-\mu-\lambda} {}_pF_q \left(\frac{z(1-y)}{1-xy}\right) dx dy$$

$$= B(\mu, \lambda) {}_{p+1}F_{q+1}(c_1, \dots, c_p, \lambda; d_1, \dots, d_q, \mu + \lambda; z).$$
(3.18)

**Theorem 3.19.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda-1} (1-xy)^{1-\mu-\lambda} {}_pM_q^{\alpha, \beta} \left( \frac{zy(1-x)}{1-xy} \right) dx dy \tag{3.19}$$

$$= B(\mu, \lambda) {}_{p+1}M_{q+1}^{\alpha, \beta}(c_1, \dots, c_p, \mu; d_1, \dots, d_q, \mu + \lambda; z).$$

*Proof.* Proof is similar as of Theorem 3.17. □

**Corollary 3.20.** *If  $\mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda-1} (1-xy)^{1-\mu-\lambda} {}_pF_q \left( \frac{zy(1-x)}{1-xy} \right) dx dy \tag{3.20}$$

$$= B(\mu, \lambda) {}_{p+1}F_{q+1}(c_1, \dots, c_p, \mu; d_1, \dots, d_q, \mu + \lambda; z).$$

**Theorem 3.21.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda-1} (1-xy)^{1-\mu-\lambda} {}_pM_q^{\alpha, \beta} \left( \frac{zy(1-x)(1-y)}{(1-xy)^2} \right) dx dy \tag{3.21}$$

$$= B(\mu, \lambda) {}_{p+2}M_{q+2}^{\alpha, \beta} \left( c_1, \dots, c_p, \mu, \lambda; d_1, \dots, d_q, \frac{\mu + \lambda}{2}, \frac{\mu + \lambda + 1}{2}; \frac{z}{4} \right).$$

*Proof.* Following similar lines as of Theorem 3.17, applying formula (2.3), leads the proof of Theorem. □

**Corollary 3.22.** *If  $\mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_j \in \mathbb{C}, (\tau = \overline{1, p}; j = \overline{1, q}), \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_j$  is negative or zero, then*

$$\int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda-1} (1-xy)^{1-\mu-\lambda} {}_pF_q \left( \frac{zy(1-x)(1-y)}{(1-xy)^2} \right) dx dy \tag{3.22}$$

$$= B(\mu, \lambda) {}_{p+2}F_{q+2} \left( c_1, \dots, c_p, \mu, \lambda; d_1, \dots, d_q, \frac{\mu + \lambda}{2}, \frac{\mu + \lambda + 1}{2}; \frac{z}{4} \right).$$

### 4 Representations in Hadamard product

This section is devoted to establishing our main integrals in terms of the product of two functions applying Hadamard product concept of power series defined in (1.9).

**Theorem 4.1.** *If  $\alpha, \beta, \delta \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\delta) > 0$ , and no  $d_\ell$  is negative or zero, then*

$$\frac{1}{\Gamma(\delta)} \int_0^1 t^{\beta-1} (1-t)^{\delta-1} {}_pM_q^{\alpha, \beta}(zt^\alpha) dt = {}_{p+1}F_q(1, c_1, \dots, c_p; d_1, \dots, d_q; z) * E_{\alpha, \beta+\delta}(z). \tag{4.1}$$

*Proof.* Applying (1.9) and in view of (1.6) and (1.8), we have

$${}_pM_q^{\alpha, \beta+\delta}(z) = {}_{p+1}F_q(1, c_1, \dots, c_p; d_1, \dots, d_q; z) * E_{\alpha, \beta+\delta}(z), \tag{4.2}$$

use of (4.2) in Theorem 3.1, leads to proof of the Theorem 4.1. □

Following similar lines as of Theorem 4.1, Theorems 3.3 to 3.21 can easily be represented in the Hadamard product of two power series as:

**Theorem 4.2.** *If  $\alpha, \beta, \delta, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\delta) > 0$ , and no  $d_\ell$  is negative or zero, then*

$$\begin{aligned} & \frac{1}{\Gamma(\delta)} \int_t^z (z-s)^{\delta-1} (s-t)^{\beta-1} {}_pM_q^{\alpha, \beta}(\lambda(s-t)^\alpha) ds \\ &= (z-t)^{\beta+\delta-1} {}_{p+1}F_q(1, c_1, \dots, c_p; d_1, \dots, d_q; \lambda(z-t)^\alpha) * E_{\alpha, \beta+\delta}(\lambda(z-t)^\alpha). \end{aligned} \tag{4.3}$$

**Theorem 4.3.** *If  $\alpha, \beta \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\begin{aligned} & \frac{1}{\Gamma(\alpha)} \int_0^z t^{\beta-1} (z-t)^{\alpha-1} {}_pM_q^{\alpha, \beta}(\lambda t^\alpha) dt \\ &= z^{\alpha+\beta-1} {}_{p+1}F_q(1, c_1, \dots, c_p; d_1, \dots, d_q; \lambda z^\alpha) * E_{\alpha, \beta+\delta}(\lambda z^\alpha). \end{aligned} \tag{4.4}$$

**Theorem 4.4.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^t z^{\mu-1} (t-z)^{\lambda-1} {}_pM_q^{\alpha, \beta}(cz^m) dz = B(\mu, \lambda) t^{\mu+\lambda-1} {}_pM_q^{\alpha, \beta}(ct^m) * {}_{m+1}F_m(P'_1; Q'_1; ct^m), \tag{4.5}$$

where

$$\begin{aligned} P'_1 &= 1, \frac{\mu}{m}, \frac{\mu+1}{m}, \dots, \frac{\mu+m-1}{m}, \\ Q'_1 &= \frac{\mu+\lambda}{m}, \frac{\mu+\lambda+1}{m}, \dots, \frac{\mu+\lambda+m-1}{m}. \end{aligned}$$

**Theorem 4.5.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^t z^{\mu-1} (t-z)^{\lambda-1} {}_pM_q^{\alpha, \beta}(c(t-z)^s) dz = B(\mu, \lambda) t^{\mu+\lambda-1} {}_pM_q^{\alpha, \beta}(ct^s) * {}_{s+1}F_s(P'_2; Q'_2; ct^s), \tag{4.6}$$

where

$$\begin{aligned} P'_2 &= 1, \frac{\lambda}{s}, \frac{\lambda+1}{s}, \dots, \frac{\lambda+s-1}{s}, \\ Q'_2 &= \frac{\mu+\lambda}{s}, \frac{\mu+\lambda+1}{s}, \dots, \frac{\mu+\lambda+s-1}{s}. \end{aligned}$$

**Theorem 4.6.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\begin{aligned} & \int_0^t z^{\mu-1} (t-z)^{\lambda-1} {}_pM_q^{\alpha, \beta}(cz^m(t-z)^s) dz \\ &= B(\mu, \lambda) t^{\mu+\lambda-1} {}_pM_q^{\alpha, \beta}\left(\frac{m^m s^s ct^{m+s}}{(m+s)^{m+s}}\right) * {}_{m+s+1}F_{m+s}\left(P'_3; Q'_3; \frac{m^m s^s ct^{m+s}}{(m+s)^{m+s}}\right), \end{aligned} \tag{4.7}$$

where

$$\begin{aligned} P'_3 &= 1, \frac{\mu}{m}, \frac{\mu+1}{m}, \dots, \frac{\mu+m-1}{m}, \frac{\lambda}{s}, \frac{\lambda+1}{s}, \dots, \frac{\lambda+s-1}{s}, \\ Q'_3 &= \frac{\mu+\lambda}{m+s}, \frac{\mu+\lambda+1}{m+s}, \dots, \frac{\mu+\lambda+m+s-1}{m+s}. \end{aligned}$$

**Theorem 4.7.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 x^{\mu-1} (1-x)^{2(\mu+\lambda)-1} \left(1-\frac{x}{3}\right)^{2\mu-1} \left(1-\frac{x}{4}\right)^{(\mu+\lambda)-1} {}_pM_q^{\alpha, \beta} \left( zx \left(1-\frac{x}{3}\right)^2 \right) dx$$

$$= \left(\frac{2}{3}\right)^{2\mu} B(\mu, \mu + \lambda) {}_{p+2}F_{q+1} \left( 1, c_1, \dots, c_p, \mu; d_1, \dots, d_q, 2\mu + \lambda; \frac{4z}{9} \right) * E_{\alpha, \beta} \left( \frac{4z}{9} \right).$$
(4.8)

**Theorem 4.8.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 x^{\mu+\lambda-1} (1-x)^{2\mu-1} \left(1-\frac{x}{3}\right)^{2(\mu+\lambda)-1} \left(1-\frac{x}{4}\right)^{\mu-1} {}_pM_q^{\alpha, \beta} \left( z \left(1-\frac{x}{4}\right) (1-x)^2 \right) dx$$

$$= \left(\frac{2}{3}\right)^{2(\mu+\lambda)} B(\mu, \mu + \lambda) {}_{p+2}F_{q+1} (1, c_1, \dots, c_p, \mu; d_1, \dots, d_q, 2\mu + \lambda; z) * E_{\alpha, \beta}(z).$$
(4.9)

**Theorem 4.9.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda-1} (1-xy)^{1-\mu-\lambda} {}_pM_q^{\alpha, \beta} \left( \frac{z(1-y)}{1-xy} \right) dx dy$$

$$= B(\mu, \lambda) {}_{p+2}F_{q+1} (1, c_1, \dots, c_p, \lambda; d_1, \dots, d_q, \mu + \lambda; z) * E_{\alpha, \beta}(z).$$
(4.10)

**Theorem 4.10.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda-1} (1-xy)^{1-\mu-\lambda} {}_pM_q^{\alpha, \beta} \left( \frac{zy(1-x)}{1-xy} \right) dx dy$$

$$= B(\mu, \lambda) {}_{p+2}F_{q+1} (1, c_1, \dots, c_p, \mu; d_1, \dots, d_q, \mu + \lambda; z) * E_{\alpha, \beta}(z).$$
(4.11)

**Theorem 4.11.** *If  $\alpha, \beta, \mu, \lambda \in \mathbb{C}, z \in \mathbb{C}, c_\tau, d_\ell \in \mathbb{C}, (\tau = \overline{1, p}; \ell = \overline{1, q}), \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\mu) > 0, \Re(\lambda) > 0$  and no  $d_\ell$  is negative or zero, then*

$$\int_0^1 \int_0^1 y^\mu (1-x)^{\mu-1} (1-y)^{\lambda-1} (1-xy)^{1-\mu-\lambda} {}_pM_q^{\alpha, \beta} \left( \frac{zy(1-x)(1-y)}{(1-xy)^2} \right) dx dy$$

$$= B(\mu, \lambda) {}_pM_q^{\alpha, \beta} \left( \frac{z}{4} \right) * {}_3F_2 \left( 1, \mu, \lambda; \frac{\mu + \lambda}{2}, \frac{\mu + \lambda + 1}{2}; \frac{z}{4} \right).$$
(4.12)

### 5 Conclusion

In this study, we have developed various integral formulas pertaining to generalized  $M$ -series, which are expressed in terms of  $M$ -series itself. Due to the general nature of  $M$ -series, the results obtained in this article can be easily converted in terms of various classical special functions (such as the Mittag-Leffler function) and trigonometrical functions after suitable parametric replacements. Further, We have represented integrals in the Hadamard product of two known power series. The formulas obtained in this paper may be of some interest to researchers in related areas.

## References

- [1] M. Sharma and R. Jain, A note on a generalized  $M$ -series as a special function of fractional calculus, *Fract. Calc. Appl. Anal.* **12**, 449–452 (2009).
- [2] G. M. Mittag-Leffler, Sur la nouvelle fonction  $E_\alpha(z)$ , *C. R. Acad. Sci. Paris* **137**, 554–558 (1903).
- [3] T. R. Prabhakar, A singular integral equation with a generalized Mittag-Leffler function in the kernel, *Yokohama Math. J.* **19**, 7–15 (1971).
- [4] D.S. Sachan, S. Jaloree and J. Choi, Certain recurrence relations of two parametric Mittag-Leffler function and their application in fractional calculus, *Fractal Fract.* **5**, Article ID 215 (2021).
- [5] E. D. Rainville, *Special Functions*, Chelsea Publishing Company, Bronx, New York, (1960).
- [6] F. Jarad and T. Abdeljawad, Generalized fractional derivatives and Laplace transform, *Discrete and Continuous Dynamical System-S* **13** (3), 709–722 (2020).
- [7] K. Shah, M. A. Alqudah, F Jarad and T. Abdeljawad, Semi-analytical study of Pine Wilt Disease model with convex rate under Caputo-Febrizio fractional order derivative, *Chaos, Solitons & Fractals* **135**, 109754 (2020).
- [8] K. S. Gehlot, Integral representation and certain properties of  $M$ -series associated with fractional calculus, *International Mathematical Forum* **8** (9), 415–426 (2013).
- [9] K. S. Gehlot, Integral representation of generalized  $M$ -series, *International J. of Math. Sci. & Engg. Appls.* **7** No. IV, 143–150 (2013).
- [10] D. Kumar and R. K. Saxena, Generalized fractional calculus of the  $M$ -series involving  $F_3$  hypergeometric function, *Sohag J. Math.* **2** No. 1, 17–22 (2015).
- [11] D.S. Sachan, H. Jalori and S. Jaloree, Fractional calculus of product of  $M$ -series and  $I$ -function of two variables, *Jñānābha* **52**(1), 189–202 (2022).
- [12] D. S. Sachan and S. Jaloree, Integral transforms of generalized  $M$ -series, *Jour. of Frac. Calc. and Appl.* **12**(1), 213–222 (2021).
- [13] A. Chouhan and S. Saraswat, Certain properties of fractional calculus operators associated with  $M$ -series, *Scientia: Series A: Mathematical Sciences* **22**, 25–30 (2012).
- [14] A. M. Khan, R.K. Kumbhat, A. Chouhan and A. Alaria, Generalized fractional integral operators and  $M$ -series, *Journal of Mathematics* 1–10 (2016).
- [15] D. K. Singh, Fractional calculus operators involving generalized  $M$ -series, *Jour. of Frac. Calc. and Appl.* **5**(2), 78–83 (2014).
- [16] A. Chouhan and A. M. Khan, Unified integrals associated with  $H$ -functions and  $M$ -series, *Jour. of Frac. Calc. and Appl.* **6**(2), 11–17 (2015).
- [17] R. K. Saxena, A remark on a paper on  $M$ -series, *Frac. Calc. Appl. Anal.* **12**(1), 109–110 (2009).
- [18] V. Kiryakova, On two Saigo's fractional integral operator in the class of univalent functions, *Fract. Calc. Appl. Anal.* **9**, 159–176 (2006).
- [19] T. Pohlen, *The Hadamard product and universal power series*, Ph.D. Thesis, Universität Trier, Trier, Germany, (2009).
- [20] J. L. Lavoie and G. Trottier, On the Sum of Certain Appell's Series, *Ganita* **20**, 43–46 (1969), MR0267147. Zbl 0208.08201.
- [21] J. Edward, *A Treatise on the Integral Calculus*, Vol. II, Chelsea Publishing Company, New York, (1922).
- [22] N. Saran, S.D. Sharma and T.N. Trivedi, *Special Functions*, Pragati Prakashan, Meerut, (2004).

## Author information

D. S. Sachan, Department of Mathematics, St. Mary's PG College, Vidisha, (M.P.), 464001, INDIA.  
E-mail: sachan.dheerandra17@gmail.com

S. Jaloree, Department of Mathematics, Samrat Ashok Technological Institute, Vidisha, (M.P.), 464001, INDIA.  
E-mail: shailesh\_jaloree@rediffmail.com

K.S. Nisar, Department of Mathematics, College of Arts and Science, Prince Sattam Bin Abdulaziz University, Wadi Aldawaser, SAUDI ARABIA.  
E-mail: ksnisar1@gmail.com

A. Goyal, Department of Mathematics, UIT-Rajeev Gandhi Technological University (State Technological University of M.P.), Bhopal, (M.P.), 462033, INDIA.  
E-mail: anil\_goyal03@rediffmail.com

Received: 2022-09-11

Accepted: 2022-12-30